
27th November                           Numeracy 5-a-day            

A pen costs £2.65.
Thomas pays with a £5 note.

Work out how much change he 
should receive.

Work out

0.09 x 100

Work out

920 ÷ 1000

Using all four digits shown, create 
the smallest possible four digit 
number.

Using all four digits shown, create 
the largest possible four digit 
number.

Using all four digits shown, create 
the smallest possible odd four digit 
number.

Work out 50% of £320 Work out 10% of £14

�

Shown are four discs, each with a 
digit written on it.


